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[Part A: Vocaula
1 Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
‘ sentence. Then mark the correct choice on your answer sheet.

1- He is a woman of --—------- who has never abandoned his principles for the sake of making
money.
1) utility 2) integrity 3) treaty 4) acrimony

2- The loud sound of the radiator as it released steam became an increasingly annoying
1) interval 2) perception 3) zenith 4) distraction

3- Jackson’s poor typing skills were a -——-- -- to finding employment at the nearby office
complex.
1) hindrance 2) supplement 3) confirmation 4) versatility

4- The judge dismissed the extraneous evidence because it was not ---------- to the trial.
1) obedient 2) treacherous 3) pertinent 4) vulnerable

S- Because biology is such a ---------- subject, it is subdivided into separate branches for
convenience of study.
1) deficient 2) consistent 3) broad 4) mutual

6- In addition, physicians may have difficulty in deciding that an illness can be ----------
the job. Many industrial diseases mimic sickness from other causes.
1) attributed to 2) precluded from 3) refrained from 4) exposed to
7- Mechanics was one of the most highly developed sciences --------—-- in the Middle Ages.
1) extracted 2) persisted 3) resolved 4) pursued
8- In the absence of death from other causes, all members of a population may exist in
their environment until the ---------- of senescence, which will cause a decline in the
ability of individuals to survive.
1) ratio 2) onset 3) core 4) output
9- Before the invention and diffusion of writing, translation was -------- -- and oral; persons
professionally specializing in such work were called interpreters.
1) subsequent 2) unilateral 3) eventual 4) instantaneous
10-Public attitudes toward business regulation are somewhat -------—- ; most people resent
intrusive government rules, yet they expect government to prevent businesses from
defrauding or endangering them.
1) cogent 2) emotional 3) ambiguous 4) indifferent

loze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits |
|each space. Then mark the correct choice on

The variety of successful dietary strategies (11) -==--en--- by traditionally living populations
provides an important perspective on the ongoing debate about how high-protein, low-
carbohydrate regimens such as the Atkins die: compare with (12) ---------- underscore complex
carbohydrates and fat restriction. The fact that both these schemes produce weight loss is not
surprising, (13) --=------- both help people shed pounds through the same basic mechanism:
(14) -----mnmm- major sources of calories. When you create an energy deficit —that is, when you
consume fewer calories (15) ---------- —your body begins burning its fat stores and you lose
weight.
11- 1) employed 2) are employed 3) is employed 4) then employed
12- 1) those that 2) the ones they 3) that which 4) they
13- 1) in fact 2) although 3) likewise 4) because
14- 1) limit 2) limiting 3) which limit 4) with limiting
15- 1) are expended 2) that they are expended

3) than you expend 4) to expend
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PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by
choosing the best choice (1), (2), (3), or (4). Then mark the correct choice on
your answer shect.

Passage 1

Telecommunications currenthy is the Targest portion of commercial space activities. This arca
was the fiest and continues o be the most signilicant money maker for the space industry.
Hundreds of government and commercial organizations worldwide own. operate. and use space
systems (o support a variety ol eritical communication needs. Spacecralt. as an integral part of
the world's  telecommunications infrastructure. provide long distance data transmission.
Llelevision broadeasting. telephony . and other services. In the developing world. spacecraft are
delivermg basic telephone serviee to mitlions ot people tor the first time. Lhese countries are
using this communication boon to support rapid cconomic growth. In the U.S. and Europe.
space-based assets are cnabling exeiting new services. such as personal communications
svstems, distanee fcarnmg. wlemedicme. and private netw orks.

Competition is fieree and the risks are high in the ielecommunications industry-vast fortunes
are at stake. Corporations that invested in growid based infrastructure compete fiercely with
arher companies. trying o pronide basically the saime services using space-based systenms. This
competivon is evident i the mobile-telephone market and in the distribution of television and
radio programming.

Aceording to the passage select the answer that best fits the following questions.

Most governments -------------- space teleccommunication for their needs.
Iy crive 2) uppose

Shutilize 4) transmit

Space telecommunications provides .

iy individual conmunication systems

s+ elobal infrastracture

visk i communication iny estinent

43 corporation of eround based communicatoin

W hat does mean the "boon" in the first paragraph?

Iy benelit 2) hardware 3y need 4) tool
What is the risk in the telecommunications industry?

[y Deveioping countiies do not support it

-d !

2y it needs space cralt in frastructure

it is monopoty oi Ls and Farope

)it is very expensive,

How do the ground based communication corporations compete the space
teleccommunication companies?

1y By advertising thetr serviees

2} By improving their service

3y By mvesung e the mobile market

-5 By providing cheaper infrastructure
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Passage 2

g r wyl £ERY A ) = ¥ Vo

The decision for the Intcasctions? Spar - S on 8%y
debris will be based upon a predicied colisoin probabiiiy. The cotnsion prodaviiy will ve

catcubated astine b sog beovv e e ot e e gt s

covarianee. propagaied ot anteipated time of comometioa ap floe F cineas sanenaeh

(HCAY T the cormas] cotlisien crobabiling o Lo v s ! . T

preiacryer will Fo pectormne? volglgnic o T ot e oy R g & ;
position and s uinceriomiy B cd so Jab o oG e v v ssire

Hom its space survethlianee. BEwOork. For SCbrts izl puad0stse. e 1Y i e

netially upon command center for 1ts Shiic voviors ana oy rane:. reo: 10 havine piacnono!
Ciiobal Positioning Sy-teng capabiin

I was shown tatbeiven the disterthatesi oF posthomceceo-. o G vebicl - oy I
population. it is passible to caleulate both the amicipated smanzover i ! e reedond
cestltine frons the Soice of SREEEGEEEEEENT. N MY o W g
mere mancw ers will be pertoimed.

e debris positici and its uncertainy ROl Do - o oy o\

1) sent Zj prevetited 3) sinaisio. § i b

How the anticipated muneuvers and the residuan vish can 0 cubaica

1) Given the debris population.

2y Griven the positiar crrors and a2 i e2ahold

34 Given the maenitude of marenvers ans the disteibation of nocion errprs

L Given the distribution of pasition orrnes {0 a enace venr 1 o thaeheis - asnlaiigm
"Other operational eonsidevations” ia dkis ronn

Iy NMust he disregarded

2y Shodld be'the huses of allallision ¢1¢uin iopy

st e Sk ed with iospCRTIes 5. o f g i

4) Have higher privrity over the collision avoiGaice maieuser

The predicted coilision probabiiity is used (0 ~-~ecmeemee

I compute the closest approach tiine

2) propagate the estimate of 1SN position

3)move the ISS 1o prevent collision «oiih oty taf ey

4) lind the 1SS position staleusad 1o:1k o oo avarininee

Which system does provide the regiaced dawa dor propagation o delans unccrtainiy?
1) space surveillance network 25 WdehialiGiint space station

3) Gilobal positioning svstem 4) command center

Passage 3

The dominant flow feature that determines the aciodynamics ol an airfeil with a horn ice
shape is the separaiion bubble that forms downswream ¢thhe hon. | his Fubble is similar 10
the long bubble in that it Bas a elobal effect on the aiefsil nres are digeituton D aminar
separation bubbleg that form on clean airfoils Bovs heen adely siedied and much 1s known
about their characteristics. Fhere are a nabes of semilieitios o i copaon bubbles thiil
result from hern dee shapes on o airivils, O clem shioni e Babel fores vhen e
laminar boundary layer encounters an adverse pressure cradiont o suiiiciont stuength 1o
cause separation. On iced airfoils. the boundary laver separates near the top ! the horii,
due (o the pressure gradient produced by the large discontinuity in the surlace ceometsy. In
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Cchor aotertstic Heswe oo e dw el o, The aratie eossure de the dabhle isoseen (o be

Laidty constant over e Dedois vabil trainsion.

2 one can infer from the fext that:
1) ice formation o maeciam
23 Horn ice s a teatie of spreitic atriai
S Flow deate s edepesident of hoea e
45 Bubhics can separare w2 Jran:the horn
*7. l.ono bubble glahal effect:

| baabas it :h‘:'-,- LRI T

2 Ths o relatineshigasvith Gl -

3) bs separdted prici wiee lotiatioi

o retermines e e oy Aecies obBoarn s
S Harnace vpe of senaenbion:

1) b lamairad se i g
rhutentsemaction

S A e

W’ o R WY W,
<+ Ol R 4 S T R G e e

29~ Iec formation w this text is compaired with:

Iy hasninar Now 2) Adver-e pressure gradient

3y Poundary lver encountess b DYiscontimuity surface geomeltry
S8+ The separaticn babble torn:s:

1) Near the lower surtace 2y At ihe end ot the ice horn

3 Dovwastrean ol the airfoil 4) Near the upper snptace
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